s QsrEuys GOk 0 - uday

GTEnT

2019
Cumrgl <Mley

Si@wHéstu’_Harar Gerb : 2 werfl] [Qurés wALQuenser : 200

dlanrésEpéE uealsguear Epssar. fla@mrsmer sauanonsl Ligssa D
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10.

11.
12.

13.

&8 Sdlajerasar
@bg eflents Qg Carey Aam_rigeusn@ 15 Bl ris@nd@ wperensne ellement UILISTyTaE@hE eUpRIGLILHLD.
@bs eflams Czr@ly 100 eflamssamens Caram(hararg). cllenweaflés Qgm_rigaper @eaualamstst@lke eraem
ellamas(@pd euflenswing @@L 1b AupmieTeTaneur eramemsib @enL ude Fib CeudmISSTETEET 2 ETaTaTeUT GramLIGIL|LD
sfluniggé Qamdreara)b. gCsab @eapur® mUdear, sismar uss HillLBisErsEer JmpsansraivuneTiid
Qzfeiss), #flwns 2 drer Cau@pnm dfams AsnElnener Qupms Qararar Cauam@Bw. Cairey Azm_rdws Geny,
wpepulil L eflems Qsr@ly wrHhls SriuL wrl L ng).
creoar cllaniss@ns @b eflaL wefléEsalb. eraer eilamés@sid F#wwrear HiGuamsdr Canar_ameu.
2 msEReL L Ufle) arearmenant @HeL LsssSlen euwg Cuoa apaauid isnbsan Seamwpgidrer @)L sda Briser
(5 Geuarr(Hib. Ceumy erang b eflens QFT@GLIGND eT(PS5E Fnl_g).
dlanL_semar GHEs &ML eran, aflenL_SFTET QTN 2_MIGEHE®E D& GTsTeniLIUTeTTme STiLHLD.
o ms@eLw alems@sraiy @duiie. (Question Booklet Code) eflevr ggnaflen @rewrLmb ussssle
25DAser enwphgaTer GLiio fob siwag smaw Bn ewwaLw ubsaeae Cuamelamd @hsssé
sr_ L. Caam@w. Cupsan.epenp aLssraiia brsar @hsss snLs sauflamd Csrauraamru
Siflelsemsuiier GHlUG Hereraurmy HLalgsms Con@ameremiL(Hib.
gauGleum(m eflesmeyd (A), (B), (C) wimitd (D) eren Bresis, eflen_senand Gsnarm(hatena). Brisear sieausatlch epCr e #flwimen
elilenL_enwis Ceiray Qg eflan_ssmafled @ dlagis sm L Ceuam(Hib. gemmis@ Gomul L sflwner ellanLser g(m Gaerallés,
@miiLsss smHlamd Hrusdr Bles sflurag aam amss smgddisCom obs elaLamu dlassrafler Ghlégs
sm_L Geuer®id. eriugwmiand egm Cadeilss @Cr em eflaLamugsrar CambosHas Couatm(ib. 2 BIsHEHaLIL
Glongs wAiCluasdr brisear eflanLssnafld @hlssis sm_Hb sfhurer eflen_saflern eramanflsamsamu QuImisss).
e _zrefler ga@eun Gadrel eranafip@b afifid @), @), ©) wimb (D) crar Hrene el L fiseT 2 6reTer. G
Caarella@ el wiaflss Bhser sflCwen smab eflenteow @G @@ et 580 W B Bob Sdewg smow Hin
@wuew upg el Cuameiemd @hlsss amL Ceumr(b. gaubenm Csaeils@d om aleaLaws
Camoshss elaLpsrailed @has Ceuamm(ib. Caereflée eemmis@ Cupul L eflemwellssmd oibhs e
FEUDNEBNES SMHSUILMD. 2 smyemons B crenueng aflwnen eflenLwinss smblame jens Semeumonm)

D516 sm L Couan(Hib.
it @0 OO0

prser eflamms QAsn@uler apsl ussSHSILD BEsCar gowg HPYseaCaur saLrg. Csiray Crrsda @bs
ailemns QsnEllamaCur sivag el ssreaaCur Csrays saLsms B Qeauafluie ar@s51F Qe assmLng).
Cgitey apumslen fhser 2 mis@reoLw oo gsreas sanstesfluurariiipn QsrBss e Ceuamr(b.
Qeueilents Qgn@Ldamens Caial (py hieyL e Hruser 2 ks ErL e r(N5s5F Gedaanid.

Ghluyser erupdl uniriugH @ eflems AsnElber s Al LEESHDE e 2_6Ter LssES 2 LCLTHSEHE
Qamereremid. @angs seily, elams AsrEldear arbs @LSHID aThs efls GhlLysmeTud CFUIWETL TS
@65 sidejenr samg.liurs SeruppliuL. Geuar@Lb.

Srdla eugeile) Gar@ssuulHarer @GHILILISET STET APy QUTETHTELD.

elemammuugnyisear el wallEamod o darar ellamssaiian Qurss aanafismsmw dlaLssraflar LssD 2-@
SipnHaser 2 flw sCLgH0 erapd) Biriueyw. @snbsear mBsons pig HLOL_kiser euprisiu@BIb.

Cupsar, sfejarsaie aemswurag WBihlamd GCareurameamud pylauBaE@L FLellysasHE@HEE 2 aarns
CpAH eren sifloynssILEADS.
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A sector containing an angle of 140° is cut off from a circle of radius 9 ecm and folded

into a cone. Find the curved surface area of the cone. [;r :272]
7
./) 99 sq. cm (B) 254.57 sq. cm
(C) 22sq.cm (D) 126 sq. cm

9 Qs yyoerer @@ alLsidmbgy 140° e@wws Csrewd Osmert ¢ eulL
Coramiiugdau Qe iy Qudss S DIHEEET QGAHM®SS @ SabuTESea,

929
e &@ sabL96 euESTLITLIN LIS STERTS. (;r = —]

7
(A) 99 .Qs5.8 (B) 254.57 £.Q5.18
(C) 22s5.Qs.15 (D) 126 5.Q5.5

A cylindrical shaped well of depth 20 m and diameter 14 m is dug. The dug out soil
is evenly spread to form a cuboid-platform with base dimension 20 m X 14 m. Find
the height of the platform.

11m B) 22m
(C) 77m ' D) 33m

14 15 9L 1b whmid 20 18 pperer b Hawm 2 (Hener culgelled @mLuﬁu@eﬂgpg. Sieueummy
Qau @b Curg CarerngQuBssiul L wewr Fns ugtintu’ @ 20 8 X 14 5 oereysafle
Slg ILESONES QEmaT e GanL wims iewssiulLTd, SbGea uller 2 wrb srems.

(A 1148 B) 228
(C) 1778 (D) 338

If 57 -[42-{37-(20-x)}]=176 + (8 = 2) then x value is.
A 42 B) -12

‘p) 12 : D) -42

57-[42—{37-(20-x)}] =176 =(8 + 2) erafled x & LA LIL] Wg?
@A) 42 B) -12
@, 12 (D) -42

3 ATGS/19

. [Turn over



4. Simplify : /48 — 34108 + 2427 + /192

@ 3 Ao

(C) 243 D) 343

F(HEES : V48 — 31108 + 2427 + /192

Q) B ®B) 0

©) 23 D) 33
5. Find the perimeter of a semicircle of radius 28 cm.

(A) 128 cm (B) 66 cm

M 144 cm (D) 56 cm

<47 28 G&.15 2 el eeul L SHern &HmeTey Srewr.
(A) 128Qs.8 _ (B) 66 Q&.15
(C) 144Q&.8 (D) 56 @s.15

6. Find the H.C.F. of
23 x3%x5xT!, 22x3%°x5%x 7%, 2% x5%x7?

WO 980 B) 870

(©) 960 (D) 840

BuQu@m Qus) m@.&,@;uwu.lé; & ITEHT.

22 x3* xBx Tt 2% %8\ x5 %75, 2° x5 72

(A) 980 . B) 870
(C) 960 D) 840

ATGS/19 4



If Azhagan is 50 years old and his son is 10 years old then the simplest ratio
between the age of Azhagan to his son is

(A) 10:50 : (B) 50:10

M 5:1 | M 1:5

sipsafier auwg S0 wHMD Seurs waeflen GI;IUJ@ 10 erafléd 2ypserm wHmD eurg waeflen
auwgssnean elldlssdlern eraflw auigeuld

(A) 10:50 B) 50:10

€ 5:1 (D) 1:5

The cost of a T.V. is T.30,000. The company offers it in 24 months, but charges 10%
interest. Find the monthly instalment the purchaser has to pay.

M %.1500 B) %.1200

(C) .1600 (D) %.1400

@ Qsmeoessti Al Quiguiear elee .30,000. ¢m Mneend @s0stmsemwu 10%
auligujLenr 24 LMES SeUMERTWITGES STMD erandlarngl. @eng eurmi@gueum Cegss Ceuemrigw
DMES SEUENENT eTeUGLETE?

A T.1500 B) T.1200
(C) %.1600 (D) %.1400

The population of a city was 2,25,000 at 2018. If it will be increases at the rate of
12% next year. What will be the population of 2019?

W ©2,52,000 | (B) 2,50,000
(C) 2,47,500 D) 2,52,500

2018-6 @ BaTsAen és Asmams 2,25,000, DiBES 2Ty ® 215 12% oifshs@wranme,

2019e» &s6T AgTEns®WS STENS.
(A)  2,52,000 (B) 2,50,000
(C) 2,47,500 : (D) 2,52,500

5 ATGS/19
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10.

;.

12.

13.

Who started a no-rent campaign in India?

(A) Arundale \ ' (B) Nihiljst
@f Tilak o (D) Chintamani
@pdwureller aur_es GSTLTE Quéssms gleuddl e wmi?
&)  opeCe . ~ (B) fsflev
(©C) Hdeosi ' D) Samoest

Where did the Nehru Report was advocated in the Congress session?

w Lahore - (B) Bombay

(C)  Poona ' (D) Calcutta

eI Fml LIl L sradlre wrpmliy.d Crmeilar sifldms swmlssiuLg?

(A) enemf ' (B) wuwbumu

| (C)I \p o : D) adassnr -

Congress socialist parfy was organised in. .
(A) , 1930 , B) 1831

. (© 1933 . G 1934

smidlyen Gerdluaiavy s d — & o HUTESIULLE).
(4) 1930 (B 1931

(©) 1933 - D) 1934

Who was the founder of the Brahmo Sabha?
(A) Debendranath Tagore : \M Raja Ram Mohan Roy
{(C) Keshab Chandra Sen _ (D) Swami Dayanand Saraswathy

“Qrowor sun” aenm senwlienu Blgeflwieui wn? _
A)  QnasSgnrs sngad | (B) @orgr gmd Cunaen gmi
(©) Cass&lsndly Qaen D) sumd swurenis &Usium,ﬁ

ATGSN19 .6



14. A horse is tethered to one corner of a rectangular field of dimensions 60 m by 42 m
by a rope 14 m long for grazing. How much area can the horse left ungrazed?

2366 m” s _ (B) 1366 m*
(C) 1827 m? (D) 2212 m?
Qeeucus augailewrar 60 15 x 42 15 Liflorawd Caram_ sarsHad @ epamaudan o Gy
Cuweigpsns 14 B Sarb Garam_ sullpheame s Liul (drerg. Gy @mu_lrrg sengSe

UTLIEDLIG STeRTS.
(A) 2366 182 (B) 1366 52
(C) 1827 82 . (D) 2212 5%

15. Find the odd man out : .
o; 2,13, 29 17, 821

@) 2 | (B) 29
« 3 D) 13
QUTBBSTS cTETEn TS GSG&GTG]IQIQ.

5,2, 13, 29, 17, 8, 21

@ 2 : B) 29
© 8 | ‘ ®) 13

16. © The words Socialist, Secular and Integrity were inserted in the Preamble by the
(A) 41% Amendment Act
d 42nd Amendment Act
(C) 431 Amendment Act
(D) 44t Amendment Act

' p&e eTudle) FOSTD, SFTTLHM LOHMILD DHMIENLD TG CUITTEENSEET CesasulLg)
A) 4leug ardlwewenliy HHss e L b | .
B) 42aug srfluenly HHss s b
(C) 43eug sirdlweentoliLy 51@55 FLLID
D) 4dag awdlueewiiy Hmss s b

B ; ' 7 - ATGS/19
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17. NIT Aayog came into existence in the place of
o Planning commission - (B Flnance commission
~(C) Banking commission o (D) Education commission

BE Gurs’ mmt—@mwﬁ@ @J@@J;ﬁm@ (pam Qb5 Sewiy

@A) Fdirsew B) - f9s 6w
€) eowidsgw @D} so6is @5@
18. - e’mphasized PURA model. _
Dr. A.P.J. Abdul Kalam a (B) Dr. Manmohan Singh

- {C) Dr. Montek Singh Alluwalia ~ = (D) Dr. Mahalanobis |

— PURA cuenyeneu cuadlymisdlemmi. -
(A) Dr. AP.J. ige SeITLD . (B) Dr. wenGunser S
(C) Dr. wrenGL Sy gieumredwir (D) Dr. mgmrrmrr@;_r%mﬁ]efv

19 In which period was the land ceiling legislation passed in all the states of India?
(A, 1960-61 . (B) 1963-64 B
1961-62 . (D) 1965-66

B e 2. 55 6)_|I7LDI_| sL.L1D eTeveT mrr;fﬂeumasaﬁgam @mpmuul_i_ 2,@TH TH?
(A) 1960-61 (B) 1963-64
(C) 1961-62 ' o) _1965—66_

20. As per 2011 census, India’s lowest sex ratio prevails in whlch state?
' (A) Bihar ' o (B) Kerala _
 Haryana o | -(D) Arunachal Pradesh'

- 2011-é néamer Qg,rrana; EW&&LB}.@T Lty @pg‘imrreﬁeo‘r THS Lorrﬂa)g).é,]m B &é @mm,r_r)g, Lirediear

9510 ﬁs\)m.ﬁgpg? _ :
(A) Sampmr _ ' (B Ga;gmrr _
©  apfurerr | o (D) emanrsa QyCssbn

ATGSN9 - s T



21.

295

D).

Match the following :

. Organisation Year of establishing
(a) GATT ' 1. 1966
(b) WTO 2. 1945
(¢ ADB 3. 1948
(d IBRD 4. 1995
@ . b (© (d)
A) 1 2 3 4
(B) 4 3 2 1
3 4 1 2
D) 2 1 4 3
e meuaieuHemLs Glurr@,{sgw; -
Sjem iy Blmeuiu’ L e
(@) uereml (B eurenflugder Bgmer 1. 1966
Qurg guiusgw (GATT) ' :
(b) 2 osaisss emwiy (WTO) 2. 1945
© @yl aueriéd auriid (ADB) 3. 1948

(d) wmFrenwiiy wHmb CubuT iy DHamer 4, 1995
uenrerm_(H eurid (IBRD)

(@) (b) (© (d)

A 1 2 3 4
B) 4 3 2 1
©) 3 4 1 2

2 1 4 3

How many subjects were transferred to concurrent list from state list by the 42nd
Amendment Act?

A, 3 - (B 4
5 D) 6

2 ifusenals ot s GEstRs e apsee STl BfQUitEg L
@ mhg QUL IGWQIHE WTHDLUILL L 6u?

@) 3 B) 4

(£)::5 @) 6

9" ATGS/19
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'23. Who was the Ch_airman of Official language commission in 1955.
(4) KC.Pant . (B) G.B.Pant
(©) S.K Dhar - v B.G.Kher

1955 gy 1b yimiq 60 Digyeueras Qomd %mmmgﬁdr SEHEEUT WP
A)  Cs.d. ups B 9.9 ups
©) .oeho.Gs. it D) 9.8 Qapi

24. . Match the followmg Match List I [Fundamental nghts] with LISt II [Artlcles of the
: Indian Constltunon] and select the correct code '

CLast I ' : List II

(a) Right to Equality 1. Article 19
(b) Right to Freedom 2. Article 14-18

(o) Right to Freedom of Religion 8.  Article 32
(d) Rightto Constitutional Remedies 4. . Article 25

(a) ® @ @
(A) 3 4 2

afz- 1 - 4

3
€ 1 4, 3 2
@3 . 4 . 2 1

I&@GIIJ@UQJGD‘.TG}J[]')@D Qurmsgs Llnwed | g (Sgluel o feovsd)  ulgwe II°
(@pHw sirflwemnliy elfsar) o L e @urr@g_r,é] sfhuren eflénLanit Gg,rr{r_r,@g@

uligued I : UL g wiéb IT

(a) 'emg,gusu s fleno | 1. 19 b &flgl

(b) asBdrefemw 2. 7 14-18 fflaér

© wséssHHT 2 fenio 3. 32weid

(@) - sirdueemnliy uflstr 2 fAamw 4. 250698
(@) b © @

A 1 3 4 2

B) 2 1 4 3

© 1 4 3 2

D) 3 -4 2 L

ATGS/N9 10 - B



25.

26.

Match the following :
Subject Matter
(a) - Public Service Commissions
~(b) Elections
(¢) Emergency provisions
(d) Tribunals

(a) (b) (© (d)

@ 1 2 3 4

@ 2 3 1 4

© 4 3 2 (E1ae
3 4 1 2

SpsasarLsupdlenar’ QuThssis
@urr@sif

(a) Qumgl uemflwumerm
Gg,r'reurrmanﬁrur&&si"r

(b) Caigesar

(¢) QABmssy Hlene obemser

(d) Sriururiser

@ (b (© (d)

A 1 2 3 4
B) ‘2 3 1 4
C) 4 3 2 1
D) 3 4 1 2

e U O

Parts in India Constitution
XVIII '
XIV - A

XIV

XV

Qs srflueenwlier uES
XVIII

XIV - A
XIV
XV

What was the real name of Muhammad Tughluq?

(A) _ Nusrat Khan
Jauna Khan

(C)  Arkali Khan

(D) Ulu Khan

(PSS GiseTadlen 2 erenowlmer Ol LT eremen?

(A)  BevTs Sme
(B) sgrenm smen
(C) <inrsmad smen
(D) 2@ aer

11
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27. Who was the author of a bOOk Kltab-ur-Rahlah"

(A) Amu‘ Khusrau : i (B) Zxa-ud-dm Baram
ﬁ Ibn Batuta _ (D) Alberuni

gLmi-o r-rabtur eremm g sredler < Bwii wri?

(A) ¢+ iBit GO - _ - (B) eSwr-o_&- @Gﬂ uuswﬂ

© @uer-uliGir. . (D) auo:@u@mﬂ

. 28.  Who killed the Bijapur General Afzal Khan in 1659?

(A) Shambhaji ‘ (B) Sahu
Shivaji | (D) Shahji
| 1659—6} Lﬁlfgg'utér'r LaL SFnIdl s ETmat QuENGmeuiT WwTi?
(A)  egmbdumg | (B) snape

©) ey o (D) oy

29.  Who Patronized Vasco-da-Gama? _ '
(A) o Prince Henry _ _ - (B) KingJohn II
( King Emmanuel - - (D) Philip IT

QUTGLCHT-1_-SMLDT- ey 2y, s MGG wmiT?
(A) Qapen Gereupsit - (B) @uenL.mb gen wereni
€C) @urgyGeud wanamt ' ' (D) @rew b Qedll

30. Who is the author of the Tamil Novel Mathorubhagan?
(A) Sundara Ramaéamy -
B) J ayakanthan
(C) Ashokamitran _
Perumal 'Murugan e

mn@g,rr@urr&& eréimp Bhpreueiian s Afwid wini?
(A) - sBzr @umosms g -

B) Qguamger

© oCsnmEyen

D) QupLomeT Ap(HEas

ATGS/9 12



Ganga delta is an example of

(A)  Birdfoot delta qdf Acruate delta
(C) Estuarine delta (D) Truncated delta

smims G reilng Was Smbs 2 sryemrid
(A)  upeeus urg Qe | B) N8N cugeu QLedLrm

(C) Qumugus QLeLm D) @aer apdley Qe

Which is the second most important food Crop in India?

(A) Rice \af Wheat

(C) Maize (D) Ragi

@nglwrellen @Qerr_meug p&Sw 2 awre] LT 6Tg)?

(A) ofé - (B) Csmgienw .
(C) Gsremid ‘ (D) Gawpeurs

“Ayushman Bharat” is a

(A) Environment Protection Scheme

(B) Rural Housing Development scheme
(C) Rural employment Guarantee Scheme

w Universal health protection Insurance Scheme

“puevCGoeT UMpg. eTeaTug —— A GLD.
l(A) SEDMIGLE UTHSTULS HLL LD |
" (B) oups S (Heusd euariadls S b
©)  oaps Caumeamiiny o sBans S
D) @aumBEEGL 2L po uTGsTIL STUSEHS HiLb

13 | . ATGS/19
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£

34. Who was the First Indian Woman who won.g(_)ld medal in Women’s 100m in world
- Universiade, held in Naples, Italy?

Dutee Chand
'(B) Hima Das
(C) Lisa Kwayie
(@ IndraniSingh °

Bgsnedlifen Cpstadier perCuhn e-ws walleuTAGL L ig. Quisindr 100L8|‘_|_I1’r.l gLLsSed
SRISLLSEED Qeueip (PS5 QS Quekiwenfl waF? :
&) Glasps '
®) aflor S
(©)  Sevrsaumad
O @pdoren fia .

_35.' Who designed the ﬁrsf Indian voting macl-xine? -
| (A) S.XK. Thorat (B) Narendra Jadev
¥ MB Haneefa (D) AG.Rao .

sé @pflu ansen LBe; Guidysos o auamOBsaIl LITH?
(A) eeiv. G, Gsmyg - B8 !_f)@l)’ﬁ)é‘)l]’ DTSEL
o (©)  enb.9. apeflur (D) g.8.goe

36. | Who was the first woman a chief election commissioner of India?
V& V.S Ramadevi ~ (B) GD.Das
(©) SK Bedi (D) R.M. Nikam

. @QiHuinefen wpasd Gus&m’gswe;anm G,sr’rg.é) B EOSILIT WT?
(A) &l ere. JonGeed ' ®B) .u. srev
C) eev.Cs. Cuyg (D) =yierid. Hambd

A_TGS!19. '- s 14 . B



317.

38.

Match the following (Kumbhamela 2019) :

(a)
(b)
(©)
(d)

v

(B)

©)
(D)

Hand painting in 8 hours

Largest Parade of Buses

People Sweeping the floors
50th day of Kumbha mela

() (b)

B W s
= b W N

()

[ R

o

(d)

GRS S

e s SOl B

Qeeumeuameunenn GUMBHSSIS (@GwuGwart 2019) :

(a)
(b)
(c)
(d)

(4)
B)
(©)
(D)

8 wenfl (S,r_w M&SHETTED NI U THED

Cumbgisetier WlsL6LIMw jemfleu @i

aﬁ&maﬂsb LDSEGET LDITIq SENET FHINL &S

©wuGwerreler 50 aug) mrer
(a) (b) (© (d
i 2 3 4
4 3 2 1
3 2 1 4
2 1 3 4

R

March 1
February 28
March 2
March 5

e 1
Yligeurfl 28
DT 2

& 5

The amount of rainfall recorded on 9th August in Nilambur is

B)
(€)
D)

ﬁmmgfﬂsb..%aasio@\ 9 .@46&@]@;@6}4 Qelwuuul L wenpl Qumleer ierey

A)
B)
(©)
D)

398 mm
305 mm
255 mm
214 mm

398 8.6
305 8.5
255 8.8
214 A.86

15
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39.  Currently, the noise reduction circuit used in sound systems is mentioned as
(A) Stereo . " - _ Dolby |
(©) Hi-Res Audio - _' (D) Echo

SHALTIPS &6 ém@muqaaﬂw uu.xeuru@gg,uu@m &g,g,m @Gm,r_ouq &g){__t)] @G]JG)JFI’Q)J

GhlsaLul{Herers
(A)  eoeMGur - . ® Jed ,
- (O) @an-Qyei < Cuim ' (D) * a&Gamr

h 40. The éyclo_ne namely “Qckhi” hits in the District of

(A) Nagapattinam - (B) Chennai

(©  Cuddalore ” W Kanyakumari
“gpa&dl” erar QUi L e — . el L Feng STadwug)
" (A)  prasluigend o (B) Gseranesr

(C) sLgmt '_ . . - (D) &'.Gkrsoﬂu_lrr@mrﬂ_ '

41.  India's first-Lokpal consists of how many members .
(A) 9 members and one chairman
(B) 8 members and one chairman
(C) 7 members and one chairman .
W 4 Jud101a1 and 4 non ]ud1c1a1 members w1th one chan'man

@bl yneﬂs&r Q.pg,au Gé}rr%Urrei), SIDLOLIL TEFEET a@ﬂﬁmﬁémeﬂ Ga;rraim@ﬁmg’? |

.(A) - gpenLigy e.gjﬁnﬁlém'ra;dT LoBOILD ¢(h gansvsuﬁ | | |
- (B) '@TL@ o mILIen & whmb eh Seweu |

© 2(C, & mitiQemisdr HHID @, Seaau

M) prevg BHgsien simhs &g]lLIIE]GUTHSGTT Lng)gm.n 4. f}g‘;]g,@cmgp AL aguulﬁlemrrasm E_I_Giﬁ'. .
KO @A |

ATGS/S ._ 18 o -_ B



42. Ths

hormones secreted by neurohypophysis are

Vasopressin and Oxytocin

(B) FSH and TSH
(C) Neurohormones and Teratohormones
(D) ACTH and CCTH

Bl CrrenaniCur eudlevand a&rsslLBn aprrGurearser

(A)  aunCsmlnfler wHMD ydadlLmélem
(B) erli.erav.erd. oHmib 1g.6T6v.6TE.
(©) HwCGrrapmiGumer wHmb QLyGLm anmirGome

D) a.8l.q.a& wOMD 8.8.1q..61&.

43. If the power of a lens is +5D, then its focal length is
(A) +0.2cm (B) —-02cm -
+ 20 cm (D) —20cm

@ eovamauder Hper +5D, oigen @ew Bemd ereen?

(A) +02cm B) -02cm
(C) +20cm (D) —20cm

44.  The greatest threat to global biodiversity is |
(A) Natural disasters such as storms
(B) = Over exploitation of natural resources
(C) Competition of Exotic species with native species

ﬁ Human alteration of Habitats

2 @5 2 WTATILTURIEE DIFEFNSSONE @) (HLILS) 2AGLD
A) ywe Gl..JrrdiT[D Quimena Cunley

(B) Qupes cuarmisaner Olenss SyeRTLcd

©€) YpulhL 2 W¥AsEEWL Swe 2 WRsEWamL Cw ghuBitd Cum iy

D) amflmsemer wrHmd Gy wealgeafler BLeuy Saase

B S 17 ATGS/19
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45. " 'Which polyphenolic compound is found in-soyabean?
(A) Androgen ' \J Phyto estrogen
(Cy Lysine - (D) Valine

GgrumIefle asrrmﬂhu@u.‘ﬁ urreSinSlar_maSlés Sl U Qunmen ergi?
(A)  em Gompen : | (B) JaulGur may_Grmgesr
- (C) eevdflew _ ' (D) surellen .

46.. The movement that takes place is response to touch in plant is called
Thigmotropic movement (B) Hydrotropic movement -

(C) Chemotropic movement (D) Aerotropic movement

graurgéler Asr(h o awrieume GplﬁLéB emu-]_u_r aimmnmg STEIETY NePESELILHS DE? -
(A ,é]é;(ﬁl.brnq_urnﬁ]és SDEFR] o (B) aanl Cymg rm9s siemaay
(C)y  &ECumggmis ensey D) aGrrgrm9s Siengey

47.  Find out the odd one out of the following 'AMRUT' scheme implemented by the
- QGovt. of India ' ' ' '

(A) Water supply |

(B) Sewerage
(C) Urban transport

i

Solar power

P wrsThssfarsd QsudUBSEILGL ‘SIbDGES S o Spssrarumasdio Geps.
gameps EHLYGS

Q) i AHCGurED

(B) s ey i Guareirenis '_

) l_n‘r,a;l;r Guns@airss '

D) @wussd "
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48.

49.

Which of the following electrolytic solutions has the least specific conductance

(&) 0.02N
B) 02N
© 20N

JO 0002N

EpsaaL aThs saygale Specific conductance @eampeuns @ HéEELD

A) 002N
B 02N
(C 20N
(D) 0.002 N

The mean distance of the sun from the earth is known as

QA Astronomical unit

(B) Amstrong unit
(C) Mach unit

(D) Fermi

GHluasE Uels@h @eL Cu 2 erer syma @g,rrtma.)_eq ereupum) Dienp&sliL(Hdlmg) ?
A)  auraflwe e

(B) ybevl g Bie@E

€) s IHOE

(D) SQumd

19 | ATGS/19
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50. Find the least number which must be subtracted from 3250 to make it a perfect

square.
M 1 s : B) 2
© =3 D) 4

3250 eremp cramelled(BHg) eThSE HPW creRTaRs HIflES (1P MUTSSLIGD?
@A 1. ) B) 2
(O 8 D) 4

51.  If the circumference of a conical Wooden piece is 44 cm then find its volume when its
height is 12 cm.

W 616 cms - (B) 528 cm?
(C) 512cm3 (D) 576 cm3

44 Q&5 sHmerajaTar (1 L[;f;l'éi a6 2wy 12 Qa.18 arafled, oI gnibi e sarsieTey WTE?

(A) 616 Qs.i8’ (B) 528 Qs.8’

(C) 512Q@s.8° (D) 576 Qs.8°
b2 _%, x,.—% are in G.P, then the value of x is equal to

@A 1 ®B) -1

w +1 (D) +2

2 x, *% @ QuMmEES Az erafler x-am i =

7
A 1 (B) -1
(oS e | D) +2

ATGS/19 - 20 _ | B



53.

54.

A solid sphere of radius 9 cm is melted and cast into a shape of a solid cone of same
radius, find the height of the cone.

(A)  9cm (B) 81cm

(C) 27cm : W 36 cim

9 Q&.5 g gaperer e Hawons Cararsamss Qaram® <iCs L Tapdrer sy Qewwiul LT ,
Di&5FaDINGIT 2 WD wimg)?

@A) 9Qs8 B) 81068

(C) 27Qs.85 3 (D) 36 Qs.5

Find the area of equilateral triangle whose circumference is 180 cm.
(A) 155.88 cm? ﬂ 1558.8 cm?
(C) 900 cm? (D) 900.8 cm?

180 Q&.15 smmarey QaramiL g LGS P&CaHTaETSS 6 LpILETEaUE HTas.
(A) . 155.88 Qai5° ' (B) 1558.8 Q&i8’
(C) 900 Qais’ (D) 900.8 Qai8°

The difference between C.I. and S.I. for two years on a sum of money lent at 8% p.a.

is ¥ 40. Then the sum of money lent is
J % 6,250 (B) 6,000
(C) 26,150 " (D) 6,200

@ sLar Qgrens 155 2 yamBHsafledr 8% e el g eisb 2 HyamhHsalenr HaLs@ sl ()
a3 &@D safleu g &G 2erer elgHwnad T 40 erafler 21505THS

(A) 6,250 (B) % 6,000

(C) %6,150 (D) %6,200

21 ATGS/19
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96. L.C.M.of x*-27,(x-3)% and x*-9 is
A) ((x-3)*(x +-3)2 B) (x-3)*(x*+6x+9)

d (x-3)>%(x+3)(x2 +3x+9) D) (x+3)*(x-3)*(x*+3x+9)

5. Qur. 1. sres
x% -27 (x-3)? LHMID x2-9
A). (x-3)° (‘.1: +3)° B) (x-3)*(x*>+6x+9)

©C) (x-3)2E+3)(x*+3x+9) D) (x+3)*(x-3)%(x2+3x+9)

57.  The factors of x* —(y+2z)*are
@A) (x*—y+2)Et-y-2) ' ,M (x* +y+2),(x* -y-2)

C) @+y-2)@xt-y-2) D) (x*+y+2),(x2-y+2)

x' —(y+2)* erenmeunlen smyarfaer
A) @P-y+2)(*-y-2) B) (*+y+2),x*-y-2)

©C) (*+y-2),(x*-y-2) D) @P*+y+2),x*-y+2)

58.  If the ratios formed using the numbers 2, 5, x, 20 in the same order are in proportion

then x is.

A) 50 B) 4

© 10 I s

2,5, x, 20 flu aamsmer CH euflensuier vweaTLBSH Simwwbd fgrser s swwors
b X

@Qmudenr x =7
A) 50 B) 4
© 10 (D) 8

ATGS/19 . 22 | _ B



59.

60.

61.

62.

12 = v 4 =8:16%
value of x, y = %
A) 6,8 B) 2,24

\M 24, 2 (D) 8,6

[y =y -4 =816

x, y en Sy = :
(A) 6,8 (B) 2, 24
©C) 24,2 (D) 8,6

If A,B,C are mutually exclusive and exhaustive events then P(AnBnC)="?

(A)  P(A)P(B)P(C) v o

© 1 D) 2

A,B,C crenp ppearm Hlapsdlaar gearen@urean elowsdwu wreywermellw Hlapslaear erafle
P(ANnBNC)="?

(A) P(AP(B)P(C) B) 0

© 1 D) 2

The next term of the sequence 9, 35, 91,...
A) 273 d 189

(C) 151 _ (D) 169

9, 35, 91,... e Qsm_freufleneulien HSS 2-miiLy.
(A 273 (B) 189

(C) 151 (D) 169

In what time will a train 100 m long cross an electric pole if its speed be 30 km/hr
12 sec (B) 15 sec
(C) 9 sec (D) 10 sec
100 S Serperer g quienarg wearflég 30 &.05/wawfl Gm&;g,@eu Qeevdlpg erafled oiHS
geneng e Wer sbuSms sL&EW Cryb ereren?
(A) 12 Qpmg B) 15 Q'r:,m.}
© 9 Gpm - D) 10 Apry

23 ATGS/19
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63. Who was the founder of self respect movement in Tamil Nadu?
(A) P.Theagaraya _ J EV. Ramaswamy
(C) C.N. Annadurai . ) D) M. Karunamdhl

s8pesde sw wilwunems Gusssas seusdoei wmi?

A) 9. Bursgmwi ' _ (B) m.Qeau. Qurosrd
(C)y A.erem. SRTRTGIDT (D) ab. s@anHd |

64.  Who got ICS open competition but failed in the riding test?

(A) Rabindranath Tagore |

(B) Ramanujam

(C) Sir. C.V. Raman
d Aurobindo Ghose

@p@mm éla‘.'ﬂeu shadleven Qurrg; Gurr;uq.uﬂso Qaup ) QuDE peTed ssumﬂ Qe G,srreﬁlw
Gg,rrsuaﬂ SievLpgeult wh?

@)  @rassrsns srami | - )
(B) @rrorgugid .

(C) & 8.68. @omoen

D)  <r95Gsn Candy

65. In a mixture of 60 L the ratio of acid and water is 2 : 1. If the ratio of acid and water
is to be 1: 2 then the amount of water in (litres) to be added to the mixture is

@ 55 O e

© s0. D) 45

60 SiLi sewmaudd oloidied BedefeLGu odaam Odzn 21 @b,
2fasdpen EnsefoCu o aar dflssms 1 : 2 yas Cadr@uoremd, soemauild
Gairds Ceueig i seefiflar siara) (St M)

@) 55 | ®B) 60
€y 50 ' (D) 45

ATGS/9 - _ 24 o | B



66.

68.

69.

The Inter-State council was established on
(A) 1980 1990
(C) 2000 (D) 2010

rhlemsEnsdamL Guirear e 2 HeurssILIL L g
(A) 1980 (B) 1990
(C) 2000 (D) 2010

Money bill can be introduced in the state legislature only on the recommendation of
(A) Speaker (B) Finance Minmister
(C) Chief Minister w Governor

wrfle s LwamsHe B wlargremes wrmerw ufbgemyuiear Cufle SMepsiuBsSS
Plguyd
(A) sumpTwsT (B) #HS siemwéer

©) @wse Smw&sT (D) =@EHmT

The atomic energy commission of India was fgrmed in the year
(A) 1947 1948
(C) 1949 (D) 1950

@S eSS SP&b 2 (HeumrssUuL L e[
(A) 1947 (B) 1948
(C) 1949 (D) 1950

Which Committee was constituted to assess ghe profitability of public sector banks?
(A) Kelkar Committee ) Narasimhan Committee
(C) Jha Committee (D) Raja chelliah Committe

QurgIssI®D aumdsafar @TUSTS®S LALISH QFLISHSETS DDESILLL @1
A) GCsesm @ (B)  mpélbwid @
©) grEew (D) g Qevemeowr Gy

25 ATGS/19
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70.  Match the following :

(a) Monetary policy 1. SEBI
- () Insurance ' 2. RBI
(c} Fiscal policy 3. IRDA
(d) Stock market 4. Central Govt.
@ ® O O
ﬁ 3 1 2 4
2 3 4 1
© 4 1 2 3
D) 2 4 3 1
QUIGEES: l
(a) uwenrsELsreaTns 1. SEBI
®b) amSE 2. RBI .
(¢) HasLameeans 3. IRDA
4. wvsdu PsTRSD

d) ukissspes
@ ® © O

@3 1 2 4
® 2 3 -4 1
© 4 1 2 3
™z 4 3 1

71.  The world bank in its world development report (2010) classified the various
: countries on_the basis of

(A) PDI- Personal Disposal Income
(B), GDP - Gross Domestic Product
d GNI — Gross National Income
- (D) GNH _ Gross National Happiness

> 05 andudér 2 s aerisd Spieudléans (2010) ' - g tinenuflér udGaumy
. Brhaener euaaliLPES L dTengy. '

(A PDI - Qungl eugpromar cAACUIRSD :

(B) GDP - Qurss 2 empal’ @ 2 Huss

(C)  GNI - Qungs Cslu aigmonend

@) GNH - Quigs Cpdws ssngmyw

ATGS/19 | 26 - B



73.

Which of the following are NOT the federal features of Indian Constitution?
1. Supremacy of the constitution |
2 All — India Services
3: Single Citizenship
4 Independent Judiciary
o Biéameral legislature
6. Integrated Judiciary
(A) 1,4and5b (B) 1,5and6
W 23andé6 (D) 2,3and4
Spsaam_aunle erg @b Sirdlwaeiider Sl L&) Quiey HenLwing?
1 is Sirflweenwiber Cuerear e
2 sifle @nHw uanilser
3. eneansd Ggufleno
4. sppdnone SHsseo
5. FIeneU FL_L LOSTDLD
6. gafloass Sésseop
A 1,4 w0pmpwb . B) 1,5 wpmib 6
“(C) 2,3wppb6 (D) 2, 3 whmw 4
Part XII of the constitution deals with between Centre State
relations

(A)  Legislative relations
(B), - Administrative relations

J Financial relations

(D) Judicial relations

@rdwu srflueeawilder 12 eug u@gdwreng wsHw-wrle 2 pasafled o drar @@ 2-peaeu
LG GHUAHE .

(A) sl wemm 2 meyser

(B) Hieuns 2 peyser

(C) Al 2pajser

D)  fHssi@p 2 pajser

27 : ATGS/19
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74.  Political system in India can transform from federal to unitary during an emergency
W Without a formal amendment of the constitution
(B) With formal amendment of the constitution
(C)  Only with the approval of the 2/3 of the States

(D) Only with the approval of both parliament‘and state Legislature

QAmmésl. Hlareude @pﬁm Sirflweentoliy, gl Lm_HudelmmBa ehanwimSé&sE wrm
A) @pdu srflueennliy sl G mESSD GCoamauufeane’

B)  wenpwrer srfweeawliy &L sHHEs0 Come

(C)  2/3 wrfle yaseT 5816C&TeTer CouaT(HiD

(D)  umgmEpwerp WHMID wrHle &L ammser Caibg) asgisbarerer Geuamr(Hid

75.  The Representation of the people Act was passed in the year

w 1951

(B) 1952
(C) 1953
(D) 1954

waser GrHbldsges s L 1b @uolul L e

(A) 1951
B) 1952
(é) 1953
D) 1954
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76.  Mother Teresa was not considered to bé the recipient of
(A) Gold medal of the soviet peace committee
w Padma Vibhushan '
- (0) John F. Kennady International Award

(D) Jawaharlal Nehru Award for International understanding

Sieenan Qgyenm &g QuHms G]a;rrei‘rmrr,sam;ra; smSLILIHE ermmT ‘
A) Gosrellwg emwdléEeliler 5hsILSESLD

(B)  ugw ey agar

(C) gren. el Qaanang Lanerm (K eSmg

(D)  uvera( yilsenésner geuaniend Crm efl(ms)

77.  Who is the author of The Indus civilisation?
(A) A.L. Basham w R.E. Mortimer Wheeler
(C) D.D. Kosambi (D) R.C. Majumdar

Abg prafab erenm Bredlen <pfwm wmi?
(A) er.eréd. LmEAWD (B) <yr.@. wmig.Lom oSeoir
(C) I4-1g-. Camembl9 (D) <y1.8. wgrebsT

78.  Who are Toramana and Mihirakula?
Huna rulers
(B) Chalukya kings
(C) Prince of Rashtrakutas
(D) Raja’s of Pratiharas

égsrrurrmrramrr WHMID WS TG eTETLIeUTSET WITi?
(A)  apcerm gy SHwmeniger

(B) sm@psdlw wereniser

(C) @nesrsmL @eTaugsrser

(D) Qnsdany peiser

B | 29 ATGS/19
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79.  The salinity in ocean water is highest at _latitudes.

@ o-s . - y# 0-30

(C) B0-60° (D) 80-90°

sL& Bfler 2 aumiub fsh sTerTluBn L suUEGS

@ 0-5° . © . (B) 20-30°
(C) bBO-60° _ (D) 80-90°"
80. . - is yellowish colour of ore.
(A) Haematite - - o . (B) Magnetite
W Limonite ' (D) Ore. Aluminium
LO@EH&ET ﬁm@mLm By _
(A)  GapweL v _ (B) wrieen
(C) \Cwmevent_ ' ' : (D) sy Sdeiuid

81. The largest percentage of forest area m Incha 1s found in which of the followmg

regions. : : _ : .
(A) Eastern ghats | (B) Himalayan region
: Peninsular plateau : (D) Western ghats

SipaeTLcubmer @(r_r,g,]mrreﬁ]a) THS LS]ly(Sgam &ﬁameﬁla} (ag,eﬁg;g;ﬁsu sr(hsefen

LiTLiLaTeney QEmarL_g?

A fpss @grn_rreeﬂ LGNV (B) @'LDu_msmeu G]UGg,&Lb _
Sushu ﬁl_gufﬂ o - (D) '(Smg'}@.G]g,m_r'ré:é] LOEHED

82, The height of Anaimudi from mean sea level
(A), 2540m B) 2455 m
2695 m' | ) (D) 2715m

&HL_6H LDLLg,é,]@S]@pgj S, EPETLPIG UNGT 2 WIFLD GTEUGIATE?
(A) 25408000 0 : ' (B) 245580/
(.C) 2695 8luiw _ - D) 271581
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83.

84.

85.

‘Which is the Nucleus of food security programmes?
(A) Noon Meal Scheme

M Public Distribution System

(C) Food for Work Scheme

(D) Integrated Rural Development Programmes

2 awrey UMGISTUY SLLSSl 2 L smeuns QmLILg) 6T ?
A) wHw o e Sl

(B) Qurg leaflCurs wpenm

(C) o ameyssren Couame L b

(D) gmrdlamanng cars auariid) S miger

The Union Government set a goal of doubling ——— by 2022.

(A) Fishermen’s Income (B) Small Trader’s Income

(C) Self Help Groups Income % Farmer’s Income

@AbAu oipemisd 2022 — b YRWHET ———————  QUBLITEDS QTRTHLLEEG
: 2 s flasCouam®b eramm @hlaGarer Daram(BeTerg).

(A) Demeurrgafler eupomed B) Hypeueafsisaiier eumurend

(C) swegel @@s%ﬂm QU(HLOMEITLD (D) eNeusrulsefian au@pomed

As per economic survey — 2018 — 19, ———— is key driver of Economic growth of

India. '

(A) Foreign Trade M Investment

(C) Money supply (D) Rural Development

@ndw Qurmertsry plaubéms (2018 — 19) —an g, @bHwr QurmETTSTY uETTESES

W&EHW 2&EWING 2 6Teng).
A4) swepr @ urexflub B) pszH
©€) uewr saflliy (D) oaps euenid
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86. For the Election Commission, at the district level, who acts as the district returning

officer?
(A) District Revenue Officer

(B) Sub Collector

M District Collector

(D) State Election Commissioner

(Sg,rrg,sv Qpmemusmgl Qurmdseuemy, wraul L eralle, LDrraJ|_|_§ Smyb fasrilwns

wimit Qewdu@Gmmiaer?

A) wreulL aumeumi sHafl
B) &ty Awir

(©€) reulc gyl Awrr

(D) wrfle Csise e

87. Which is called as “a Jewel of the desert”.

J Khiva

(B) Samar khand
(C) Tesh kent
(D) Bishket

urrsa;mmmggw B s TEDeNL&ESUILI(HeUS) 6157
(A) deur

(B) &mom sewr_

(C) GCgey et

(D) YG6agCs
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88.  Which month is called as Kerala’s black month?
August (B) September
(C) duly : (D) October

Cayermefle) 6T LIS ‘SHLUIL LISD TamepssiuBAnE)?

Q) <&@ B) QsuLibui
(©) LOme D) sCLmur

89. The largest wholesale turmeric market is located in —————— district of

Tamil Nadu.
.y{ Erode (B) Kodaikanal
(C) Theni . (D) Nilgiris

SBOPBHM_ 1o BauQuilw wEreer Qrss QaTaTpsD FHas 2-6Ter @L LD

A) mCyr( ; (B) QsreoL_srene
©) Csef @) Sod
90. “Bacillus anthracis” which cause ———  disease in cattle and human.
w anthrax (B) plague
(C) cholera (D) typhoid
CLfldma wypsrTadley  wallger LHMD  STOB@L s Crraw
FHUGSSAG!.
A) maTTESEL B) uGers
(C) smegm i D) eumi®
B 33 . ATGS/19
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. 91. Which of the statement is wrong, regarding the former Chief Minister of Tamil
Nadu M.G. Ramchandran? ' : S

(A) He introduced +2 system in Tamil Nadu
“(B) Bharathiar University was started duﬁng-his tenure

(C)  He assumed his Chief ministership for 3 terms and ruled 11 years
d ‘He introdgced' Lai)-top computer scheme for students

peneer SODET gen (ipsd Siwsiren enb.g. @orossidr@ar UHHIW sapmseie

SoupTeng; e15?

@) +2 56068 papenw: EsEHD Qe eubei

B)  umBurt Lbsmaspsb Qo useR stsHH FauksIU L

(C)  eperp aperp LHmb LHONE aBHL s Qe SIWESINTS 28 Qurgyié
Bobsni |

(D) Qeur oree: ﬁs@é@ W safal aupigd HLsms Garrdrr@ QubsTT

92. Which novel received the Raja Rajan Award from the Tanjore Tamil University in
19897

(A) OruMaram Puputhathu

(B) Ore Ratham

(C) Romapuri Pandiyan
w Thenpandi Singani

1989 chb %sm@ g@m&-guﬁg; udsanar sasan gy T aﬂ@mé_r, Qubm mreie ergy?
@A) @ WLID Y UsSS |

(B) @Gu-u;is;sd: '

(C) GymomyM unéimq_uér

D) QCgerumeimy HkiEhd
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93.

94.

The most abundant metal in E-waste 1s
(A) Silver Copper
(C) Iron « (D) Lithium

Werangy sfleysafler Siflaid sremiu@n 2 Cansbd

(A) Seeur ? B) smour
©) Q@mwy D) &lsHwubd
Match the following :
Name of the organism Activity
(a) BGA and Rhizobium 1. Ammonification
(b) Bacteria and fungi 2.  Nq- fixation
(¢) Pseudomonas bacteria 3. Nitrification
(d) Nitrobacteria 4. Denitrification
(a) (b) (c) (d)
d 2 1 4 3
(B2 ] 3 4
C) 2 3 4 1
D) 2 3 1 4
Spssaat_aupern QUT(HES)s :
2 ulflengder Quuwi Qewe
(@) BGA wpmbd egCemAwib 1. 9Cwurafiluwrssea
(b) umELFwm LHMILD LLEHEMFHET 2.  eplygen HleveBlmsse
() @ECLrGureameay ungfum 3. eplM9Csagen '
(d) e Cyrurél fur 4. y-eopMN9Csages

(a) () (©) d

(A) 2 1 4 3
B) 2 1 3 4
() 3 4 1
D) 2 3 1 4

35
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95.  Coulomb's law is given by F=kq, q,r" where 'n' is equal to
-2 o - B 2
< -2 . ‘ D) 12

sagpid (Coulomb)-é 698 u9é "n' aflén swowb eramen? F=kgq, q,r"

@ -2 T B 2
© -1/2 | D) 12

- 96. The time period of oscillation of a simple pendulum depeﬁds on
(A) . Mass of the bob |
(B) Material of the bob

x Length of the pendulum
(D) Amplitude of the pendulum

sl eagelen ianaa) Gryb sripHmUU,

(A) @eamger e _

B) e Qeinuou’ L Qurmee QUInES
(C) ) sargeSlan Hamb -
(D) casden s

97.  An achromatic lens produces
(4) Coloured image
(B) Enlarged image
(C) Black and white image

M Unaffected clear image

Bninppsd Badiu afdeamasdr Qaregn RbLib
4)  we Bpuudc Gbub
B emasdoGuiiu Goub
- (©)  spuy-Qesdtenar Hp G
D) Glg;aﬂ.mrrm b
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98.

99.

100.

Which one of the following atoms has the largest covalent radius?
(A) Oxygen

(B) Fluorine

(C) Bromine
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A) sellgen
B)  yeepfler
(C) uGpmblen
D) O5Hwud

The oxidation number of chromium (Cr) in Na,Cr, O, is
A) +5 B) +3
© +4 +6

Na, Cr, O; -0 @Crmilwgglen (Cr) 2y sedlmGardm eretr
A +5 B) +3
(C +4 - (D) +6

Streptomycin is active against
(A) Gram positive bacteria
Gram negative bacteria

(C) Viruses
(D) Fungi
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